Sexual vs Asexual Reproduction
Asexual reproduction produces offspring from __________ parent. The offspring are genetically ____________ to the parent and to __________ __________. The advantage of asexual reproduction is that it is relatively __________ and can take advantage of __________ environmental conditions. In plants, asexual reproduction is also called ____________ reproduction because it uses a vegetative part of the plant (e.g. root, stem or leaf) instead of a __________. 

Sexual reproduction produces offspring by combining genetic material from __________ parents. The offspring are genetically ____________ from the parents and from each other. The advantage of sexual reproduction is that it ____________ the genetic diversity of the offspring, increasing the likelihood of the offspring surviving if environmental conditions __________. The seeds can survive __________ conditions by waiting until conditions are good before ____________. The disadvantage of sexual reproduction is that it is relatively __________ and it relies on ____________. 

change

different

each other

fast

favourable

germinating

harsh

identical

increases

one

pollinators

seed

slow

two

vegetative

Macleod
Sexual vs Asexual Reproduction
Asexual reproduction produces offspring from __________ parent. The offspring are genetically ____________ to the parent and to __________ __________. The advantage of asexual reproduction is that it is relatively __________ and can take advantage of __________ environmental conditions. In plants, asexual reproduction is also called ____________ reproduction because it uses a vegetative part of the plant (e.g. root, stem or leaf) instead of a __________. 

Sexual reproduction produces offspring by combining genetic material from __________ parents. The offspring are genetically ____________ from the parents and from each other. The advantage of sexual reproduction is that it ____________ the genetic diversity of the offspring, increasing the likelihood of the offspring surviving if environmental conditions __________. The seeds can survive __________ conditions by waiting until conditions are good before ____________. The disadvantage of sexual reproduction is that it is relatively __________ and it relies on ____________. 

change

different

each other

fast

favourable

germinating

harsh

identical

increases

one

pollinators

seed

slow

two

vegetative

Macleod
